
Math 134 Quiz 2 Review Review 1 Solutions

1. Solve by factoring.

(a) 3x2 − x− 2 = 0
Solution: (3x+ 2)(x− 1), x = {1,−2

3
}

(b) 3x2 + 7x+ 4 = 0
Solution: (x+ 1)(3x+ 4), x = {−1,−4

3
}

(c) x2 − 3x− 18 = 0
Solution: (x− 6)(x+ 3), x = {−3, 6}

(d) 2x2 − 15x+ 7 = 0
Solution: (x− 7)(2x− 1), x = {1

2
, 7}

(e) 6x2 − 5x+ 1 = 0
Solution: (2x− 1)(3x− 1), x = {1

2
, 1
3
}

(f) 16x2 − 9 = 0
Solution: (4x− 3)(4x+ 3), x = {3

4
,−3

4
}

(g) 4x2 + 15x− 4 = 0
Solution: (4x− 1)(x+ 4), x = {1

4
,−4}

(h) x2 − 4x− 21 = 0
Solution: (x− 7)(x+ 3), x = {−3, 7}

2. Solve the following rational expressions.

(a)
x− 4

2
= 0

Solution: x = 4

(b)
x+ 6

4
= 1

Solution: x = −2

(c)
x+ 4

2
+

x− 1

2
=

x+ 4

2x
Solution: x = {−2, 1}

(d)
x− 3

10
=

4

x
Solution: x = {−5, 8}

(e)
3x2 + 8x+ 25

7
= 4

Solution: x = {−3, 1
3
}

3. Solve using key number method.

(a)
(x+ 2)(x− 2)

x(x+ 1)(x− 1)
≤ 0

Solution: (−∞,−2] ∪ (−1, 0) ∪ (1, 2]

University of Hawaii at Manoa Spring 2015



Math 134 Quiz 2 Review Review 1 Solutions

(b)
(x+ 3)(x− 1)

(x+ 1)(x− 3)
> 0

Solution: (−∞,−3) ∪ (−1, 1) ∪ (3,∞)

(c)
−x2 − 5x+ 2

x+ 3
+ (2x− 1) < 0

Solution:(−∞, 3) ∪ (−1, 1)

4. Simplify.

(a)

(
x4y2

x−3y

)−1

Solution:
1

x7y

(b)
(x3y)2

x5

Solution: xy2

(c)
((

x1/2y
)1/2)−1

· xy
Solution: x

3
4y

1
2

(d) 811/4 · 82/3
Solution: 12

(e) (27−1)
1/3 · 41/2

Solution: 2/3

(f) 1252/3 · 8−2/3

Solution: 25/4

5. Rationalize the denominator and simplify.

(a)
x− 2

x−
√
2

Solution:
(x− 2)(x+

√
2)

x2 − 2

(b)
x

1−
√
3

Solution:−x(1 +
√
3)

2

(c)

√
3√
5

Solution:

√
15

5

(d)
7√
7

Solution:
√
7
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(e)
1
4
√
a

Solution:
a

3
4

a

(f)
1

5
√
232

Solution:
5
√
233

23

(g)
4√

x+ 4− 4

Solution:
4
√
x+ 4 + 16

x− 12

(h)
x2 − 3

x+
√
3

Solution: x−
√
3
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